
Oppgauel
9-R

f p

Ff , Yoo -113=015 xxxxx/1/1/11" ' " "

|9p
a) g. [1.1*-171%(1-4)]

Yom "

✗
* (1- yf )

-1 YF

=
0,54+(30-1) (1-0,5)]
3011-0,57+0,5

" 0,08

⇒ YB -0,92
-

b) 0,081,25=011

Off YA - 9- RYR, + 9-pYp,
⑦ =

⇒ 9- p
--0-4--0,532=1,06

2. 0,5--9-1210,1 + 9- pYp,
⇒ 9- r= 0,94

Ypa
.

= l-¥jQ94_

Y%=0 Yp, -- ① 145

9- DB ' 9-
p .YpB= 406.0145



% loss . "¥j%± --15,1€

c) Se LF
As 357m

'

d) - Cascade
- Pressure ratio

- Increase selectivity

2 !
Mass balance top :

i
D. ✗a + [nxn.vn . yn,,

yn-n.tn?.-xn+D-n.!Y
&

D= V - L

Fo⇒

yn.us#n-iVqxd-JXdYn-n--&(Xn-Xd)-iXd
,
XD-0,9 ¥0,86 IL

, Xi D. xd

ya,
= 0,86 (0-019)+019 = 0,126 Feed is liquid

yn+, = 0,86 (0,9-0,9)+0,9=0,9 ⇒ g- -line = vertical

Vet ihhe Xp , og mifinnemedprov-ogfeilxr-0.tt



✗ B dross fine Dog B

f-=D -113 ⇒ B. F -D

f-✗f- Dyd + BXB

D- 0,5 =D -0,9+110 - D) • 0,07

⇒ D=
10 (015-0,07)=5,18
0,9-0,07
=

13--4,8-2

it) Moving it changes the composition ✗ is - 018

&

%Ñ!|÷
"""""" ""

yd | •

in:|
p I •

self .

3 a) Vi-3000 molls y , -01002

↳ = 90000 molls ✗5-0

Veldigfortynnet ⇒ Antar H=Vz=V, 4=4--2

Ved lihenekt : Pso.=H× ⇒ yP=H×⇒y=¥× , ¥=m



1bar , 25°C

m . 4- = 46

A = 1¥ =

90000/3000
= 0,652

46

Like vekb pi bannen :

✗
,
= ✗

*

✗
*
= Im'

=

°

'F% = 4,35 . 10-5

f-inner Yz wed masse batanse ar 502

Inn = Ut

Vy ,
= Vya -1 Lx ,

g.
=

y ,
- & ×

,

ya = y ,
- b- ' In

yay , 11 - Fm) = y, H - A)

yn . 0100211-01652)

Ya = 6,96 . 10
"

>> brisket

Moishe vaskeStrommen .



b) For at yi=y,

⇒ yi=y , 'll -A)

⇒ ya
'
= 01000242 fortsatb for start

C) Alle other A, og gir gait resultat

self

d) a) Assumes dilute mixtures with m and constant

b)
"

Imaginary
"

vapor compositions in equilibrium with Xi and Xi

y ? -.MX
,

y?
= mxz

c) Self

4) T ' 28°C ,
H --0,3 , Jb -712,8 kglm}

Cps 0101 ↳↳Y÷

✓ = 4052 mk¥
,
↳ = 926.10-6 BHI

kg Hz



a) bidder ikke

b) Tis " fill - E) It -- tb
tb a 9,58h
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